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TABLE 3.1 ANALYTICAL SOLUTION OF COMPATIBILITY EQUATION EQ. (3.6) FOR 8;,
j =3, 4, BASED ON GEOMETRIC CONSTRUCTION.

Computation of 83, B4, Bs, and B, for a given value of 8, (see Fig. 3.3)
A= Al + Azeiﬁz
Az — A2— A?

cos @y =—4+—=2A—, where A; = |A;| and A = |A|
2A3A
sin@;=|(1 —cos?0;)'/2 |20
Let cos@; = x, sinf; = y > 0 With these, use the ATAN2 function (FORTRAN IV or

WATIV) to find 0 < 85 < =.
Ba=arg A+ 0;—arg A;

93 =27 — 03
Bs=arg A+ 08, —arg A,
AZ — AZ — AZ
¢ 2A.A
sin 8, = |(1 — cos? 0,)1/2|> 0
Letcos 8, = x, sin6, =y >0 Use the ATAN2 function to find 0 < 0, < m; 8, = —0,.

Bi=arg A — 0, — arg A,
B.=argA+0,—arg A+

Figure 3.3 Geometric solution of the compati-
bility equation [Eq. (3.6)] for the unknown an-
gles B;, j = 3,4.
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Precision position Pj a;{deg.}
1 — 50, 200 0
2 10, 100 14
3 —-30, —18 77
4 —40, 0 98
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